ITEM PARTNO

1

O 00 NO U B WN

PAFJ3.01
PAFJ3.02
PAFJ3.03
PAFJ3.04
PAFJ3.05
PAFJ3.06
PAFJ3.07
PAFJ3.08
PAFJ3.09

DESCRIPTION

BASE PLATE

TELESCOPIC CENTRING KIT

AIR BELLOW UPPER HEAD

ROUND HEAD HEX SOCKET NUT M8x10
RUBBER PAD

CYLINDER HEAD HEX SOCKET NUT M6x12
AIR BELLOW

LOWER BASE SUPPORT

HANDLE

PARTS FOR :
PREMIER AIR OPERATED FAST JACK 3tonne —
THREE STAGE — LONG HANDLE

MODELS: PAFJ3

ITEM PARTNO

10
11
12
13
14
15
16
17
18

PAFJ3.10
PAFJ3.11
PAFJ3.12
PAFJ3.13
PAFJ3.14
PAFJ3.15
PAFJ3.16
PAFJ3.17
PAFJ3.18

1 OF 2

ISSUENO : 1
ISSUE DATE : 08/02/2016

DESCRIPTION

ROUND HEAD HEX SOCKET NUT M6x12

VALVE UNIT

RUBBER GRIP

HANDLE BAR

CYLINDER HEAD HEX SOCKET NUT M6x12
CYLINDER HEAD HEX SOCKET NUT M6x16
COUNTERSUNK HEAD HEX SOCKET NUT M6x16
WHEEL

WHEEL NUT

SEALE

Sole UK Distributor,
Sealey Group, Kempson Way,
Suffolk Business Park,

Bury St Edmunds, Suffalk, IP32 7AR

T 01284 757500
& 01284 703534

’i&eb www.sealey.co.uk
' sales@sealey.co.uk




ITEM
1

O 00 N O U b W N

=
= o

PARTNO

PAFJ3.11-1
PAFJ3.11-2
PAFJ3.11-3
PAFJ3.11-4
PAFJ3.11-5
PAFJ3.11-6
PAFJ3.11-7
PAFJ3.11-8
PAFJ3.11-9

DESCRIPTION

AIR DISTRIBUTOR
AIR PIPE CONNECTOR
SAFETY VALVE
SILENCER

SPRING SEAT
SPRING

VACUUM COVER
SNAP RING

O-RING

PAFJ3.11-10 COLLAR (LOWER)
PAFJ3.11-11 COLLAR (UPPER)

PARTS FOR :
PREMIER AIR OPERATED FAST JACK 3tonne —
THREE STAGE — LONG HANDLE

MODELS: PAFJ3

ITEM PARTNO

12
13
14
15
16
17
18
19
20

PAFJ3.11-12
PAFJ3.11-13
PAFJ3.11-14
PAFJ3.11-15
PAFJ3.11-16
PAFJ3.11-17
PAFJ3.11-18
PAFJ3.11-19
PAFJ3.11-20

ABK PAFJ3.ABK

2 OF 2

ISSUENO : 1
ABK ISSUE DATE : 08/02/2016

ABK

DESCRIPTION
VALVE ELEMENT
CYLINDER RESILIENT PIN
VACUUM BUTTON
VALVE ELEMENT (A)
PLUG 1/4"

PLUG M8
VACUUM NOZZLE
PLUG 3/8"

AIR PIPEJOINT

AIR BUTTONKIT

SEALE

Sole UK Distributor,
Sealey Group, Kempson Way,
Suffolk Business Park,

Bury St Edmunds, Suffolk, IP32 7AR

T 01284 757500
01284 703534

Q:)“ www.sealey.co.uk
[z | sales@sealey.co.uk




